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Passage:

Taha:— eNfaiRad Terl ufdar Uyl s e rav: Siadany S e frad|

SUSHRY Fg Rig: IHge Fauld W1 Taal a1 TR Rig: FRIOW Siee R HU=aq) 9: @ ITcied WA=y 3| T Riggmat a1 sras R saefd |

Ferfer o Rwre: a7 R W1 S SR T 97 TR0 Tadr | gfefa Rigg o S rge Serdh "o U: Xad: Hrard: e SddT e RIS TAr Shid | 9
RidiH SuT sigeq “era! SAYT HAM O STHHd:, JE df ARG | A Aq ok g 3 |

et o yaed- g7, o WA | O Rigw | & aRga: TS YS: T | & HegAad SUIadH | 9 $A S Tof ARRIGH SRIad: | Had: HY FereraHa:” 3| Tad gl afsr:
Sed: dAISUEd |

Q.No: 1 Rig: T o Faafa w2

A TOSHRUY |
B ey |
o FURT |
D BRI

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:
Tapa:— SeNferiRact Tert ufdar uym fawearerd ve: Sfadany S faad)

SUSHRWY Fy Rig: TP Maula 1 taer a7 2R Rie: FRIaW SHa@ R Su=aq) 9: & areed a3 Td Riggamar ard sram iR srasfq |

Parrad o RIee: I TR F1 B S To: oF AR A | fiefy RigTH! oW SmpfigH S| 3! T: Ja: U1am: W Sadl sHa K1Y U 3R | 8
g SuT sraad “Sre! U8 HHM o SHhAd:, W o Faral T I 7o s gf

e} Tferd Uaeq- "I, ofdt WA | I RigEH | & IRga: ST Td | & HeAdq STy | 99 o S ot ARRIGH SR | Had: W HaeRaHa:” S| Tdd Yl afer:
SE: daIsYTad |

Q.No: 2 Rfg: PR ............ 3URI?
A TEURIH |

B FRpCIEH]

c TR |

D TSR

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Toba:- eeNforiRad Tt ufdar uym fasearard ae: Sfadany S fyar kirgd|
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SUSHRUY HeH Rig: IPgr Maula W1 el a1 T2 Ris: FRIOW Sa@ R SU=aq) §: @ arcied aari=H 3| Ta Riggamar a1df sradiR: saefd |

P d R a3 W W SSRGS 7o A JE01 FTdar | el RigE o Smepfigy Jedi| 38! TN: a: erars: X" gl SHed i) Tara-H i |
Rig ST 3raeq e S8 HAMN e pya:, T O FaRa | T A ok sfwfar 3 |

e ofrd yaed- ", i WA | Y RigE | & IRge: SHEHYH: TT | & HAad ST | 9 $A S Tof ARFIGH SRIGE: | Had: 4O PAeRaHE:” 311 Tdd Yl afe:
SD: dAISYITT |

Q.No: 3 §: T ATced AR S| 3 T: TPR:?

A

B

C G|
D fas

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Tha:- sreNfariad et ufda@r uyF A eured a: Sadaaq S R firad|

SUSHRWY FgA Rig: IHge Faula W1 Taal a1 T2 Rig: FRIOK Tiee R So=aq) §: o ITcieds WarRiH=H 3| T Rigqamat aref sraw R saefd |

P d FRa: a7 RIS W SHWI B 7o A7 AR SFTar | Sfefa Rigy o SmehfiigH It el UN: a: o1ars: XY el S I TarE-H i | T
RIS ST 3fged “ns! SUE HAMN o ShA:, W df Faral T Iq T g 3 |

e ofrd yeaed- g7, ofd 48 | Y RigwH | & IRga: SHEHYS: UT | & HgAGd U | 9 $A S Tof ARFIGH SRIGdn: | Had: 4T PaoRaHa:” 3id | Tdd ol aferd:
Sd: qalsyrad |

Q-No: 4 B P: I ARTOT SFTTAT?

A QX
B 3foT: |
C arR:|
D Sk

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Hobe:— SreNfrRad TRl ufder v e araeore: Sfaam W e forad)

TUSHRU By Rig: Gggr Mauf ¥ twher a7 G Rig: FRIos S R s/oxaq) : o aieieds Ry $Faq| td Riggmat widf srawiig: sada |

B o R a7 IR | S B I I AR SFTar | Fiefy RiggHT o smepfige SEril “ere) U: Ria: wrar: = SgaT SR TR SR | 6
Righ IuT Srge “ene! SV HAMN 7o ShAd:, 2 @ Mara| T A T sfwfa 3 |

e} oo gaed- g, ot WA | 3 RisEHl | © IRge: ST U9 | & HgAaq U | 99 A S Tof ARRIGH SR | Had: W HeoraHa:” S| Tad y@l afe:
Se: TAISHTad |

Q.No: 5 IIFA! - UK RSB HUH?
=fa + =@an

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 2/51
Page - 2



DUVEEEREL T T

A
B 3 + a9 |
c g9 + Il
D T + IF@n

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Goba:— i Tt ufdet Tumt e eurem iy Sfaar 3™ e faedl

SUSHRUY P Rig: P Mauld W1 e a7 TR Rig: FRIaW SHa@ M Su=ad) 9: @ Jreied AR 3| Td Riggamar ard sram R srasfd |

B o RS I IR T | S S T9: I AR Sar | Sy RisE) 1o Smpfge Sedll i@l US: <6a: HTar: Yo Sl shesiIg: TemaH S | 9
RIS I sraed “era! SA8Y HAMY ToH HpAa:, WY @ Fargl 5 3 7o sRwRr sk |

e Oferd Uraed- O, o WA | Y RigE | & Iga: TEHYS: T | & HeAGd STy | 99 $A S Tof ARRAIGH SRIGn: | Had: WY FaeRaHa:” S| Tdd gl afo:
SD: daISYIaT |

Q.No: 6 &: Riglq ST sfaaq | ISR s [

A 3raeq |
B ISEe
C SUH |
D :1

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Hoha:— Srelifaiad Tt ufdet Tyt A eureteayea: SfuaarH S fdr fawdl

TUSHRUY Hy Rig: Ppgr Fauld W1 Tohal 37 T Rig: PRI SigeRIgH Su=aql 9 d aicied- WaRRIFY 3Faq| T Riggamat e srasiRig: s@dfa |

eI A Rizre: o TR W1 b1 B o 37 ARTU smTqar] | gy Risg o sreefige Seall el u: vaa: urar: 2o Sogde S RIg: Teg o |
RiE ST Siaed “ene! SIS HHM o kA, 2 o Farg| T Iq T g gf |

it Wi veaed- g, ofct 1A | @ RIgE | © a¥ge: SRGEY: UF | @i HegAad] ST | 99 $O Sl TS ARRIGH SRIG: | Had: Y HererayTa:” 3ia | g YT afew:
S: ddiSHEd |

Q.No: 7 =ieH - 3 IR Wy ug fH?

A Pl

B Ffefal

C S|
D YrarH: |

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Toba:- SreNferRae el ufdear uam fameurerd Re: Sfadand 3w e fRiga)

TUSHRUY FeH Rig: TPpgr Fadfa w1 Taer a7 TR Rig: AR sree Ry srsad| @ & aiedd JaRRIAY A Td Riggmat a1 SR sadd |
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FHera o RIRE: a7 R W ST B TS A AR SFTaar] | gl Rigg o St Sell “orel Ts: Xa: HIars: e Sgadl SHEHRI]: Jaa Said | 9

Rigin ST sraaq “end! ST HAM e SmpAG:, WY o Fara | 7 =3 T i 3k o

RS TfeTd Taed- "OF, oft WA | O RIgEH | & IRga: ST U9 | & HgAGT UG | 99 o S ot ARRIGH SR | Had: Hd FaeaHa:” $id | Tdd Yl aford:

S: daIsyTad |

A GEf]
B W |

o G |
D Heda: |

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Tohe:— SriferRad TRl Ul U fadeareeavea: Sfaany S o foed)

Rl TRAYG T gaHP SAT G

A FRAEERT THel QU T
Iy vergTey Rty
TR Rafafee e TReT (1

Q.No: 9 guidu: 37 aRRIG Tw: ?

A el
B oty
o TR
D AU

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

Tohe:- Sreiferad TRt ufdl Uyl fapaardee: Sfaany s fuwr foedl

Il IR e gauE SAV FAidh
AR FRATE S Al Gu M
anfiverrgTey Al
TR WREfafee e TR |

Q.No: 10 AF% ¥4 axfvafa ?

A HG

B ST

c [RIEGISERE]
D TRATEA |

Correct Ans : C
Subject : Sanskrit Bhasha 02
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Passage:

Toha:— SreNferRed iRt ufdan gl fisramear: 3fuaarm Sw fuw foraa)

R ARG ST GAHp SAT
) PRAIS A e qudd il
i vorgey fafadedavaifdd
TR WRafafed TR TR ||

Q.No: 11 fa¥ & FaRRAg wwd ?

A TR
B U

o AR
D [FECICEE]

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

e~ SreNferRad veiel ufdcr wum fawearaeare: Sfaany Sw fuwr foredl

e AR SR Ay AU

A FREAEH A gvel GUsT MeH
i verrgey fafadd-avaifdy
TR el T AR |

Q.No: 12 oid): & (ARG =Ieid 2

A qUST

B YRR

C FRraTE
D AR

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

et Sreferad TeIRt ufdr Ul fasearamre: Sfaanr Sw fuwr foed|

(T IR T gayT TA A
AR RIS FHEl 30T M
i verrgey fafade-amaifdy

FhRI AR Rafafed TEw AR |

Q.No: 13 & ARANYH ?

A AT
B e

c gafaore
D A

Correct Ans : B
Subject : Sanskrit Bhasha 02
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Passage:

Hora:— SfeNferRad Terit ufder uyHi fasearard a: fudadd 3w i ked|

Rl aRFAG S gy S A
) ARG ST YHEl U8 M
oy Ry

TR ART Rafafgd T TR |1

Q.No: 14 9RIfd=E Ho - =

A TR
B M+
c :[FT+€-—<;€:
D AT+TH:

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Tohep:— SN U™l Ul gl fasaaraeare: Sfaanm Sw fuwr fod)

(e IRFAY S FAYP SAV AR
ARG RIS THE) gua et
ey fafaddavaifdd
FdRImYmR WRaEfafed TR AR |

Q.No: 15

~. = r
AW A ST alsd: ?

frarfgy

Ay
fRrdfiadn

Correct Ans : C
Subject : Sanskrit Bhasha 02

o 60 W >

Q.No: 16 gea: ---- % SR 397 Raarim b ug TqRa?
A ESE

B wHHuT
C WHH:
D RSCil]

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 17 "R TXI--- FFl: 3 16 UE Frg acta?

A Jufwer:
B Iy
C Iufug
D SufE

Correct Ans : B
Subject : Sanskrit Bhasha 02
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Q.No: 18 U SMIR-TId: H:?

A e:

B YgP:
c faga:
D SNfgaa:

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 19 &: qul: 3fequIu:?

A 2
B 3
C X
D q

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 20 FHE SHEVN U+ Si: IR Tdlie-

A Rrerp: MU Wi FRIfd
B Riere: e TermarEl vafaf
c Rierp: BT qvsatd

D Rrerp: BEW: THaE BRI
Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 21 Ud: 90%: JRPUTaHY I 9 "R 30 Wea: Hafd 0 77 ¥ '3wexA' 3fd qefd, aw aw: s

A TRIFGIY:
B wRufE:
C TR
D RFTTEI:

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 22 S ParIedH! RIEoH Jhad Haki?

A Y GRpAUTS 7 TR T8
B Y rUYIYUT SR Au
c Y YTERIYTHT TART Hdf~ G

D 3 Rt JAapam STETT AU

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 23 F&al SN geaHH, AR, IRvRaHE Ta@s v Texiiig smavas: vafd -

A Piid
B Rreitel
c e
D SR

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 24 IRepd iRy UrdiAT Horrel! SRy
TrTar_fAfer.
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AT MY

rBAgE-fafd:
Yr3ITeT-fafy:

W T fqwe:
Correct Ans : D

Subject : Sanskrit Bhasha 02

o 0O w P

Q.No: 25 YA (fine motor skill) [ fam Iwey IameRum i ?
A dH (hopping)

B AGT (writing)

c s

D SRIGUH (climbing)

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 26 HIRI&ORTY Rig: fagmfavard aur armforplasmidyard IaeunA arfd | s/ ufdfd: wad --

A ST - HTST (Language across curriculum)

B &1t oM. ufafd: ( TPR approach)

C W1.uq. 1. Ufaf: (CLT approach)

D faFUTIRIEURY (Science and Language teaching)

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 27 UraRy JaaRdut A

A IR EERCEIER LY

B TSI e S5 RismaeE
C G

D < A YAy F Ueas UsH

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 28 FmfifEd arigd vad - erefis! aras gwial aae: et goia | i wiiedy 3¢ aridag Ierom 2
A Ife; faufmaiads wafd, g spf: SifYy uftada

B g FHAIAEY WBIEa
C gy GaT-fohar Swawi Uiauredid
D IHAT: araan: SISy da: 7 4K Tal i Syt TR JHMT: Mgk

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 29 '@f-sparref fs ol 2

A af-RigTamt oo

B R GHRIUGHR ST

c AR TG fAREmafa i
D AifeeasauH

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 30 VSHEEE: SHTUTGIYad JUGICRIREVIAR Teh: UTe: Skl | UTeR SHRFHT 9d R1&id: SHF aidg MG Iq Tafe fawg 1 & fé st & & = gy sofa 3 |

3y UTS qidar SHT: gq aaw: e [l | G Re: yaAfdi: f& saa?
A 3{&RT: MY: (Literal Comprehension)
B TNeHIRH (Metacognition)

H-S=1-Ud fafYf (K-W-L Strateav)
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Y S I =]

(o1
D UfdgHfaf: (Reciprocal Strategy )

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 31 U RRAMI-

A ST D §
fepa omaws T8 8
B
HTST St TR QTR T 8
c
T 1 BT
D

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 32 3= WU R W FEF! XG4T & g amght Sy =g &

A Mg

B IR B

o EEIEIY

D P BT IRIBT

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 33 UH HWI-Riers % & § 99 w1 TN §

A TpuIle wa & e & forg Sfa worifoal @ s
B T DI N P F Hed ¥ IRRT HI

o T B YTV Y IR WY b THIT o G

D HI-GTeAT BT 37HTd &

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 34 UgA &1 URY-

A quiTen & S =Y

B FEIE! | ST =1feT

o Haarelt § g =iy

D refqof gl & g =Y
Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 35 R1&/d GRT Yid g1 T AR UIG BT I HIAT 3R e Hd §U o Wsal & 37 qarh AR TR ST 39 Rreqor yomedt &1 o A9 g2

A G&H Yo

B BRI
C Srivfea vomeRt
D RESAT HuTTedt

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 36 = # 9§ foam Ruanm & ILzal &1 avifexur fbar 82
A .. 3T
B oy, s
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c SRE

D W We aeed
Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 37 7w & 9 v o7 Iy @1 87

A SfHor
B TR
C T
D Toreners ST

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 38 fm & ¥ 3jeas S O § 3R B YR forga o &, 39 T e § 2

A rgfety
B AR fafy
c et
D e

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 39 fIF & & IuaRIeT® RIai &1 drepiiee ed a1 82

A B P AR gHR qUT HES B T
B BE 3 qHRei ¥ e T
c B B AT IR YT BiSTE B! 56 SR

D B B SR B RT3V TerHfy T

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 40 T 3UA {TH-UTT Sl S aTeil UTST/HUTSISH BT YAH W&

A SO TS # Wi el B Gbd
B ST TY B 1A §

C UTST T Go=Id TART -Tg] B adhd
D HIST & g9 761 &1 W

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 41 UIGg-a¥] PT HEQY UST

A Had HiIaISH W & ar] g 81
B T3 BT THHH S1Ex ¥ 3
o To 1 Uge SR e o 31
D 3 &I S & Teg HRal Bl

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 42 Y] I T {59 UHR &t g gl d1igu?

A afgfds

B AN "B

o P HITBR

D et 9 Haifta

Correct Ans : D

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Subject : Hindi Bhasha 01

Q.No: 43 RV FT T& I 7 & § frgr faemd 1 78 82

A UG P DI BT
B T F B BT
C /gy & v &1

D b B & P BT B

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 44 ice Rigfv fafel &1 faepry fobem fobar 2
A i 3o urhe A

B 1. Wie J

c CaibGRERIG]

D TR agddt

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:
R AR AT TTe TR & ggaR g T Ul & a9 3fud IR A fased &1 99 -

W T B UE 9 RIS F T T Rbrd FRa T 791 98 Widd [zan € 5 3l it % oy w1t oA gl @ g S aun Iugntht 8 @y € 3 Siie  waer $ urd s
THr: T @ giaenel I 3 piedl # ufe! ¥ Hed 31 siien SaeT YT WAy I gl § 9d1 Siiad 9 STl 9B U ST ¢ 1 99 9ed ufe arll & gI-gfadt w g
STt B 391 a1 & AT Tiox-araw BIa § SR o) 3t Siaw1 ot SuTel & fore fooht Rifdre gt €1 T € 93 39 91 3t w1 © 19 9 g e 9 9 319 T
72

Tg 3o {6 & ST § 9 TRI9 Td SAMFER aril & & f6had AR, 791 9 Uidd 8 §, 9 Ui fidr, amive Jaw td $91i § fHa gad 8id §1 37 IRaR & 9e
RaR & 1IN0 3 fhe Th-gER ¥ I3 U 9T WR-Higssd ¥ s g & | 3 4l & T & 91 wergufa @ aur § e % 3 B 94T Ear §1 36 eRuil A S H A
BIS A=A T UiassT U @t SR Wi safdy gasm 3 39 gu € iR 8Id W1 Al o o, fomat Fut g A S, @t gt W = Bura w3, o sget gar 9dm
0 A e A TR A1

Q.No: 45 IUdad TN & SFER, TS BT TR 2l

A e fia & gw

B TR T G

c Ui U wR Higsd 9 93 81 ¥

D TR, T 9 9 219 B, @ detems Ridr, amife au- vd $9f 9 e gaa g €

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

FE=n: - Ry 1T ey B g@R U@ T URAl & a9 IRd IR a1d fawed &1 999 Sifn-

I TR B T 91 S S FU H RO I § U1 I Wipd 19399 § & afS Al & U 1! o7 S Al 3 G S qu1 STAntt g1 W @ 9 Siad # Sarel $9 U sl
TG T B g ¥ T odl # ufiel & Tedl Y erier STeT e WAy T BT § 9T Siiaq ¥ SUIeT Yo Ui T 81 43 9ed e anil & Ui R e
St 31 ST a1 F T Fe-ares 81 ¢ SR o 3 eyt H $! ST & forg el RufdreTd it €1 I @ 19 59 9 31 v § 5 3 9g e W i S=R s e
g2

Tg gufee {5 & S § 195 RIS T SameR anlt % W s g, v 9 ufds g R, 3 dieers i, arive daeer v $wi € fhan ged 9 §1 5% uReR & wew
URER & UINuT 3 fre Toh-gak I 93 U 91 UR-HIged ¥ o4 8d ¢ | B ofia! & G & 91y ergufa § aur § Rie & G o 9T S §1 36! SRl 8 e B 9 &
PIs NfeRITE Td ST UTe dn o iR afdd i 9 9a= gU § 9fR g 81 AiE o e, format ot g et S, 31 g R U B, df MUt ga1 9T i
REER R DE I URINCR

Q.No: 46 IUYHR TR F SIER, el F 7 F fory USR & & U1 gU B &R g

A iR
B gt
C =it
D AR, HiraTHIG T4 fda=icdt
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Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

& R 3T U T Sl gaR @ TN URAT & 9Ed Sfd SaR ard faded 37 997 Sifeie-

AR RIS BT TP ST SRS b w0 H RIbad HRad ¢ a7 I8 Wipd 194 § 3 9l Al & U BI%! 4= S0 o 3 G 8191 a1 ST 81 WY g1 9 Sia § Sa7al $@ U ol
grara: e gRwet § Al pdl § ule! % dock B slie SareT Tear Hd T g1 § 9T Siiad 9 ST G- Wi Sl 81 99 |ed 4fie anl % gI-gf3at w g
3Tl &1 37 A1 & R MR- B3 ¥ SR 3 3 srawyr § 3} v ¥ forw ol Rzt it €1 ary € 42 59w # wear @ ¥ @ g e e SR s @
g2

Tg 3ufere i & S § b TR Td SAMER il & W fPad TR, T 9 ufed 8§, 3 disens K, gmive ane ud $9f 9 fFae 49 9 1 39 uRaR § uew
IRaR & UINT 3G e Uh-gaR A G U 9T WR-Higssd 9 S 8d & | B 4l & Gt & 91 ergufa & a1 § Te % G5l ol 9erS 3 §1 S SRl I e B 9 &
IS Wil Ud UfiteT U G SiR WiR safe gHe § S 8U € SR 81a W@ Tl o e, Rt w5 et S, B Gl W =Rurd $9, Ot St Ul I b
I Y SfEwR ar W U

Q.No: 47 I TR & SFER, T Wit B} T S W & w0 § Rioprd v §, Rl

A F oo & SwErh 78 & v
B 3 TS § R TR @ bl
o q o & gRreTa el ¥§ Wl
D 3 TR & GRIETS K IE Wabdl T Sited § Syt 7 @ g

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:
&= R R U TR B vgaR O TN URAl & e 3fd SeR ard fawed &1 999 Sifre-
AR RIS Bl U S RS B wU F b B § 797 98 Widd [9%a™ 7 {3 3 A & U St = S A 3 g0 g1 7T ST 8 1y 8 9 Sia § Sarel $@ e S|

I T B gl ¥ 8 oledl § yRel & dedl 3t SieT SuIeT el Ty U BT § 99T Sitad ¥ UIeT 9% W gl 8| 93 939 e @il & ga-giEl W e
Tt §1 ST a1 & FAT THR-TR 810 § SR S B G § 90! S@uTa & forg ol Riférestd gich 81 1Y 81 I3 39 a1 1 09-1d1 ¢ 1% d I8 ol oI fob Isi+ o1 @il
32

g gufer i & S § 9% TR9 Td $AMeR @Rl & W fae AR, T8 9 Ui 81 §, 3 Wieers fiar, wmifve v td S ¥ fha g 81 §1 39 IRaR & e
IRaR & INT 3G e Uh-gaR A IS U 9T WR-HIgssd 9 S Tid © | B il & Gt & 91 werufa § aur B TRie % GHl 6l 9ers 3ar §1 3 SRl § s A9 &
DIS WG Ud UiassT U T iR R fd g9 & 3= gU § iR g @71 Al o e, orwt #vt oy e g, o il W =Bud $49, O iUl uar 9a
I § SR A TR A

Q.No: 48 IUad TRIIY & SFIER TUA: T BT BT 90 BT

A e T $AFER ANl ¥ W e AR, U9 9 U 6 €, 3 disere R, amie 39 @ $w1f @ e e 819 §1 5% UReR ¥ 9o uRaR & i g
e TP-gW ¥ 93 §U U WR-Higsd ¥ oMag T8l 8 &1

B e Td SHFER ANl % R e mR, W 9 Ui O €, 3 dierere R, amie dn o $uf { e 9 81 §1 3% ukeR % 9ew ulkar & i g
e TP-gaR ¥ 9 §U 9UT TR-Higewd ¥ S1eg 8 B

. T T4 $AFER A & W e TR, T 9 Ui 9 €, 3 dierens Ridr, g S5 wd $afged € €1 3% uRar & Yew uRaR & dwu ¥ [ 1e-
T ¥ TS U T UR-HIgsd ¥ 6 8 §1

5 THiY T4 $HFER Qi & TR fhan MR, 591 9 Ui B €, 3 oo R, amier duwr vd $of § fva gaa €19 €1 3% uReR & Yew uReaR & Ui &g
fhad U~ A IS 7 9 iR 7 @ wR-Higswd ¥ e AR €

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

= i 3 1T Teriw Bl ugaR g Y URHl & el Ifd I a1 fdebed Bl 98 Bifon-

T TR B U 9L 02 F FU F R FRA § 791 98 Wd zam § o gl anit & ury S1et oF g a3 g S aun Iuantt 8 3y € 3 S # et o ua S
g e 3 g | A pledl § ule! F Aed oI e SureT dedr Hal U g1 § 9T Siia § SaIeT G- Wi ST 81 99 ed e anlt & gI-gidat w g
et ¥1 7T a1 F AT - i 7 SR M) 1 SrawyT # S99 qHIa & forg Foht it gt €1 wry &) 93 59 a1d &t ua=Tan § 5 3 9 et Wi % S8R @
87

Tg RN & & 9Far § % TRie ud $ameR arll % W P AR, 7= 9 Ul 99 €, 3 WekeEs Rar, wmive 39 ud $wi ¥ fhan O 81 €1 399 URaR ¥ Ie
IRGR & 1T B fFa TH-go ¥ IS §U 99T UR-TIEsSd 9 6S 8 & | B Ul & Ol & Iy werla € U § TR & O ) 94 Sar §1 5 pRoi S RS H I &
IS QiGTTel Ud TiteT Ui @i SR Wi sl sRR § S gU € IR 81a W@ i oy e, Rt o 9 et S, B = W =Rurd 39, a1 Syt g I b
ST I SR A RIS A1
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Q.No: 49 = # § ¢ & o9 1 99N 82

A TEY TN
B FHYRYG G
C %5 9N
D for v

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

R -9 4T T TR Y gaR g T Al & a9 Ifd IR K fdded BT 99 iferd-

R RIS B T S RS S T F Rivrd HRa € qU7 98 Wied 999 7 & afe d & U St 4 S a) 3 g 81 aur S § 1rd 8 3 Siad § Sarel $@ U S|
e T @ gRuret | g gledl & 4MeT & Hedh B Sl SuTeT Jedl YA U BT & 9T Shad 9 Sa1e1 o U 8T 81 3 9ad 4w @il % gI-gial w
3Tt §1 37 Va1 & fAT TroR-arew g3 § SR o) Y sraw F ! Suura & fore ol Rifdred S 81 wry € 0 39 9 Y vaeian @ 1 @ g 1 o 5 3= i e
22

Tg 34feT 6 & S § 1 TRI9 Td SAMER anll & W fbad TR, T 9 ufed 81 §, 3 UisTere K1, Imive aney ud 9 9 fFae 49 8 21 $9% URaR & 9ed
IRAR & UINYT 3G e TH-gaR A I3 U a1 WR-Higesd 9 S8 8 & | B il & Gt & 91y erufa § aur § TRIeT & G5l ol 9uTs 3ar §1 Sl SRl I e § 9 &
PIS QfGmelt Td HfossT W @i ofR Wik Sfd gHRn 3 S gU R 810 w1 af} o e, et H wg e A, 3 JE W = ura S, o efuet war e
I 9 SifHaR arm W U

Q-No: 50 w1 # 9 erarT 31t &1 R I v 1 ) oref arg-

A ¥ g

B wr g w1

c faudia nfey ar g=n # v
D HEH/ S § g

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
= R o T TR @l Uga R T Ul & e 3fHd SaR i faded #1999 dife-

W R B TP S RE F T H RHrd Ha § 991 98 Wipd 99 3 b afe A & oy S1wt o 8 Y 3 g S 9t Suandt 8 9rd 8 3 S # e o U Sl
G T @t glaunsll I fady Sfedl # ufve! & degdl 31 s SaTeT ea Yy U gidT § auT Siiad § SIeT Y& U gl o1 T3 Wad Ui anil & G- woa
STl B 3! JaT & g Aex-amaR B 7 SR S Bt sraRy H 9! S & forg e it gl €1 v & 9 59 919 3t yuetan § 5 3 9% 6T Wi % S @
32

Ig 3R & & S § % 79 Td $AMeR |l & R fhad AR, Uo7 ufdd g §, 9 disiere fia, amiive arw ud $wi & fhad gad 219 €1 399 uRaRr & e
RaR & 1IN0 3 fhe TPh-gER A IS §U 9T WR-Higssd ¥ g g ¢ | B 4fal & G & 9 gergufa @ aur § e % 3 B 9 &ar §1 36 eRuilf A S A4
FIS A= Ud UiassT U @t SR iR e gam & 39 gU § ofR €1a Wl o e, fomat Fult g A S, @t gt W = Bura w3, o suet yar 9am
g R Nea r D RINER

Q.No: 51 % & 9 SI--91 Wsg a1 BT I g 82

A SHH
B Eaauif
C [
D e

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:
FE=r: - Ry U e B ugaR U@ T Al & 999 3Rd IR a1d faded &1 99 Bifon-

AT TR F U IS RIE & wU B Rbrd w0 § aU 78 Wihd [9za € 6 afe dnil & urg St o 3 Al 3 g g1 aur Suanht gy €t oilde J SIel $% Ui S
THRI: TS 3 gReedt | o Piedt & et & Hee @ sl SaTeT el Wiy U giaT § 9T Sigd ¥ Sa1el Yo Ui ST 31 09 9ed Ue anll & G-l W a
3T 81 9T YT & T TNoR-a1aR B § SR 31 3 siawyt H ! Sauia $ forw foh Rifdert St €1 wr € 1) 59 1 3 va © 9 78 e W [ Sein g
i

Tg Zufee {5 & S § o5 TRi9 0 SameR anit % W faas aeR, v 9 ufds g ], 3 disers fiar, amfve dree wd $wi € fhan ged 8 §1 5% uReR & wew
URaR & dINuT §g fhe Teh-gak I G U a1 UR-Higesd ¥ o< gd ¢ | T et & G & 91y ergufa § aur 8 e & G o 918 3 §1 3! SRuil A RS A Y |
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HIS G Ud UfasaT UT T SiR iR e gasn & Ia gU E R €1d W1 Al oy e, et it g Y S, ot et W = f¥ura w¥, o sue! gar 9

I 9 3ffIpeR AT e 1

Q.No: 52 I TRIIY & SFIER, Tl H Graurshi ¥ fGgH Piedl § ufie! & woal S obar_

A STET S ey Ui B 1

B Shte ST Yo I grert B

c T T WA I Biell @ o oftae & S1eT Y% W g 2
D T WY W1 BT § T Sita ¥ 1 G 9 Qe 3

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

& ST S UgHR IR T U=l & Yo 3TUd Ik a1 faded o1 991 Siforg-

HRYEIG S1aR0 Uy H1
SR <% T T
Tor el a1 U o
AT & & Il
7B e wrgard) @
g R & &t 7 e
g1 T X S B2
Il ;i fava gepfa &t
We-da qg o 4 2
i 7 o1 T e wha
PIY U & Tl ?
TS A IR e §
S U & ¥4 9,
IR T I gIRT
HIgdlE & 4 4l
TR-FHTS HT UG TP §
q5 99, 98 YS-99 ¢
o wge g g2
godfl, faritd Au-aa g1l

Q.No: 53 I UL P IR, AW B

A foita H-aa
B EERCEECUE
C TR-THI BT Y
D T90T &1 el

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

=T FTAY B UgHR I T Al & Yoy 3Td IR a1 fdded o1 a9 Biforg-

RIS, SfIaRY] UTY &7
3R TR LT T
ORI el &&1 T o

YR GAR O F

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Ug! et et &
g R Al &t 9 Y
ERCIREEEGEARTI AT
Ul i fava ugfa &
Jig-¥ie 98 o 4 ?
i = ol ddl e e
FIY UG & T ?
T g A v 8
A U FH 9 Y,
3R T I GIRT
HIgale & 99 1
TR-FHTS BT U TP §
I8 9¥, 98 YS9 §
foreds wga g g2
gedl, faefid AH-aa 11

Q.No: 54 IRT TEIRI & SFIER, 97 FT 9
A TY-T

B fafr-siw
C R-GHS
D Y-

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

=T ST $HY UgHR I T A & Gy STId <k a1 fdaed o a9 Biforg-

YRETS; STaRT UTY &1
IR % T T
TSR el a1 U o
AT & O Il
ug! et yraard §
g W i &t 9wl
T AT I 3774 82
Il i fava gepfa &1
Jte-die g8 o 9 2
R 7 Io1 e et Wia
DIV U &S T4 ?
T T O wedr §
3% g & 9 9,
SR HITT G GRT
HIgElE & B4 4l
TR-FHTS HT UG TP §
I 9¥, T8 YS-99 §
o e g g2
g, Tl Tu-aa B

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Q.No: 55 TSI “u dl Far gt | g1 ~ &1 Fe & & wm anef 2

A R BgA

B I TSI 3T BT
o Tgd WRI

D TR 3 efar I

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

S ST BT UgHR I U U=AI & Yo IiUd <k dd [ddbed b1 a9 Siforg-

HIETG S{TARVT UTY &1
IR 2 =97 ST
ORI el e U oF
HIT GAR S 1|
7B e e &
i fafy-sic v B,
ug W i &t 9 =l
FguT AT 3o ST 82
IuSIrdl i faug Usfd &1
He-Jage a2
i 7 IS8T Al e frd
PIY HIY & e ?
T Al U Bl §
3 Uy F 9 9,
SR AT 3 gE
HIETE & o Il
TR-FUTS HT U & §
qE 4H, 98 YSI-90 ¢
fores g g1 g%
g, T fd TH-aa B

Q.No: 56 fAwfifad & ¥ T Xsa o1 9o Bifoe-
A Afcwra

B adf=
C [EGIBEN
D yeya

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

SR i H YgaR I T URA & ga IR IaR a1 [awed o 9o -

YRIETE SIaR0 Y &1
IR < Q07 BT

[ERRESCEICCI R )
HITT IR S B

B! e yrgardt &
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g IR i ot A @l

g1 T XA S §?
IUSIIT & [aHT Upid &l

Ja-daggead?
i 1 a1 T et wfaa

PIY 4 & §ad ?
T Aol IRId el ¥

3% U & ¥4 9,
3R 1T S8 IRT

HIAIg & B A1
TR-FHTS FT UG TP §

g 9H, T YOS §
foress Wi g g8

g, T e u-aa 811

Q.No: 57 FEfifad & ¥ SH-1 9190 B0 PR BT TL! IS 82

A ReRt 3 R B Ig@ | AR
B e 7 Hig B AR
o 3o TR T 9§ =

D it 35 B 951 7

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

IR S $T Gga g9 Y URAT & Gad IFd ek dN [dded o1 98 Sifore-

HIATG SHIaR0 Uy H1
3R =R =T T
ORI el <& U o
AT G OFH P
7B e yraaret &
g R R &t 7 @Y
FguT e X S 2
IS i faud gPid &l
Je-dagg o 2
i 7 331 T et wiaa
DI HI & ST ?
T HIW WA PR §
3 U & ¥4 9,
SR 1T SY ERT
HIgalg & 9 A1
TR-FHTS HT UG & §
qE #¥, 6 YSI-99 &
forees e gl 85
g, faeita TH-aa g1
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Q.No: 58 Iudu tfaaai & fit &  for wsg 1wy 7 o v B2

A agur
B IS
o G|
D Kik:ich

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

S ST BT UgHR I U U=AI & Yo IiUd <k dd [ddbed b1 a9 Siforg-

HIETG S{TARVT UTY &1
IR 2 =97 ST
ORI el e U oF
HIT GAR S 1|
7B e e &
i fafy-sic v B,
ug W i &t 9 =l
FguT AT 3o ST 82
SYSIal i f3ug upfa &1
Jrg-dia 95 5@ 4 2
i 7 IS8T Al e frd
PIY HIY & e ?
& A9 Afd Rl B
3 Uy F 9 9,
SR AT 3 gE
HIETE & o Il
TR-FUTS HT U & §
qE 4H, 98 YSI-90 ¢
fores g g1 g%
g, T fd TH-aa B

Q.No: 59 fau 71¢ araaisr & T T Xeg &7 997 Bifo-

i ARy a1 I A foar T §-
A SuRmfa
B RIS
C IR

ST

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 60 U Urife Hafl-Hal § Us Rigid I a1 a3l A1ige?

A FHad IETERUT A TRl
B Fad TR-ISERT 3 AR
c JETRYI T TR-FEIERU I 37 =fgul

D ISRV T TR-ISIGRVT SHI &1 -Tel & =gul

Correct Ans : C
Subject : Hindi Bhasha 01
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Q.No: 61 What should come in place of the question mark (?) in the following question?

2466949
-21x63+7=7?
o wy & vyares fag (7) & RIA R 7 3 Age?
-21x63+7=7
-189
A
-189
-191
B
-191
126
c
126
189
D
189

Correct Ans : A

Subject : Mathematics

Q.No: 62 What should come in place of the question mark (?) in the following question?

2467028
0.2 x 640 + 0.8 x 520 =7
Fafafaa uy O uyars fag (?) & ®IF W &1 S Fifte?
0.2 x 640 + 0.8 x 520 = ?
562
A
562
522
B
522
544
C
544
564
D
564

Correct Ans : C

Subject : Mathematics

Q.No: 63 The sum of four consecutive even numbers is 284. What would be the smallest number?
2467170

IR HANTT T T3l &7 AT 284 §1 TEY B Tw@m w1 grile
72

72
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74

68
C

68

66
D

66

Correct Ans : C

Subject : Mathematics

Q.No: 64 If the square root of x is the cube root of y, then the relation between x and vy is:

2467189

T x FT Y, y &1 9904 g, d x 3R y & 9 Idy 3:

K=y
A

=y

x2=y3
B

x2=y3

X=y
C

X=y

=y
D

6=y

Correct Ans : A

Subject : Mathematics

Q.No: 65 6 years ago the sum of the age of the Avshesh and Shivam was 30 years. If the ratio of the present age of the Avshesh and Shivam is 1 : 2, then
2467348 yhat is the present age of the Avshesh in years?

6 ¥ T5Q SaRY SR RRrad S} g H1 ART 30 Y 7| Afe ada & oy R Raw 3 g B g 1 ¢ 2 §, @ 3@y Si gaA oy auf # @ g2

10

A
10
12

B
12
14

C
14
18

D
18

Correct Ans : C

Subject : Mathematics

Q.No: 66
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2467517 Tt costs Rs. 5400 to fence a square field at 13.50 rs/m. Find the length of the side of the field?

T TR D i 13.50 T/ W a5 T F 5400 T 1 @ ST 81 Hew w7 e i ders i i)

100 m
A

100 Ht

84 m
B

84

90 m
C

90 #t

45 m
D

45 7t

Correct Ans : A

Subject : Mathematics

Q-No: 67 If the sides of a parallelogram are increased to twice its original lengths, how much will the perimeter of the new parallelogram?
2467583

g T TARR TGS BI Yl HI IGD! Yo da1S I SR IR fodn S, o -7C THiaR Igafst &1 uRam faan g

3 times
A

3T

4 times
B

47T

5 times
C

5T

2 times
D

27T

Correct Ans : D

Subject : Mathematics

Q.No: 68 The width of a rectangular hall is three fourth of its length. If the Area of the floor is 768 m? then what is the
2467655 ifference between the length and width of the hall?

T AR ST S TGS S aTe st diF =Tg 21 TS B &7 et 768 12 2 i et i widie 371X disws 1 41 3t a7

8m

A
s
12 m

B
127t
24 m

C
247
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D 32 m

321

Correct Ans : A

Subject : Mathematics

Q.No: 69  Solve the following:

2457828 9X9X9+3X3IXI_,
81-27 +9 )
TorFeTTerlad ol gef &l
9x9x9+3%3X3_ ,
81-27 +9
10
A
10
12
B
12
60
C
60
30
D
30

Correct Ans : B

Subject : Mathematics

Q.No: 70 What is the smallest number which when multiplied with 9000 becomes a perfect cube number?

2467942
I8 Tad St GO 1 § B 9000 F 01 HRA R T quf T T 5 Sffelt 82
2
A
2
3
B
3
6
C
6
8
D
8

Correct Ans : B

Subject : Mathematics

34'\'6%27110 Three angles of a quadrilateral are in the ratio 7 : 5 : 9. If the fourth angle measure 150°, find the second
largest angle of the quadrilateral.
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U TGS & i DI BT Sgard 72 5 - 9 31 A AT B0 150° B, T TGS BT GERT Ua ST DI I
GAE L

o0°
A

o0°

70°
B

70°

100°
C

100°

50°
D

50°

Correct Ans : A

Subject : Mathematics

Q.No: 72 Kumar belongs to a very poor and conservative family, what teacher can do to help him?
2468451

PAR T ¥gd & TR ok wheard) aRar & sidid o 7, Risrs IT@) Aeg o3 & o 701 o2 Toha 872

A special school and classes may be opened for him

A
I R v R pd IR penedt Y G o Jebdl §
Special training may be given to the teacher

B
Rerep & forg fardr wivaror foam s woven ©
He should be treated as a normal pupil

C
IGF U TP WA B & ¥4 H SdeR a1 ol TRy
He should be sympathized

D

I Y FETLHf B ST =Y
Correct Ans : C

Subject : Mathematics

Q.No: 73 The ratio of 15.5 hours to 950 minutes is:
2469719

15.5 ¥¢ ¥ 950 fiFe &1 U §:

81:87
A

81:87

93:95
B

93:95

85:42
c

85:42
D 47 : 23
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47 : 23
Correct Ans : B

Subject : Mathematics

Q.No: 74 gimplify:
2469850 Ixty — 5x? +3yx? — 32+ — 2+ Byl — 392

WY B

Sty — 5x? +3yx? — 332 +x?— y? + 8xyl — 332

8x?y - 4x? - 7y? + 8xy?

A
8x%y - 457 - 7y? + 8xy?
8x%y - 4x? + 7y? + 8xy?
B
8xly - 4x? + 7y? + 8xy?
8x?y - 4x? - 2 + 8xy?
o
8xy - 4x? - ¥y + 8xy?
8x%y - 6x? - Ty? + 8xy?
D

8x%y - 6x7 - Ty? + 8xy?

Correct Ans : A

Subject : Mathematics

Q.No: 75 Find the product of n?%, 3nM, 4nl* 5076
2469869

0%, 3nH, 4nl3, 5p°8 HTIUHH A BT |

20n*
A

2002

600240
B

60n240

40n?
C

40024

50n**?
D

50240

Correct Ans : B

Subject : Mathematics

Q.NOZ 76 — — T 2 2
T171039 Ifa + b =35 and ab =2 find the value of a*+ b
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qﬁa+b=5ﬁqab=2%?ﬁalkb‘zaﬂqﬁwaﬁl

21
A

21

20
B

20

25
Cc

25

30
D

30

Correct Ans : A

Subject : Mathematics

Q.No: 77 The main goal of mathematics education in school:

2475375 wqq & Tford & e o1 gET 96 §:
Mathematization of child's thinking

A 2 9 9 7 TR
Making the child more intelligent
° = ot R
Helping the child to secure maximum marks
c e o ST ) 1 7% 8 e
D Strengthening child’s learning
T Bt e B weIgg s

Correct Ans : A
Subject : Mathematics

Q.No: 78 Ram solves - 4 - 5 = + 9 The error is committed as

2475386
IABABRATR - 4- 5 = + 9 I 3 ISR &I ol §
A Ram needs to practice solving problem of similar type
I B 3 TPR P AW Bl 5 B T SN PR B LGBl §
Ram has not understood the concept of multiplication of integers
B I quifep! & TUH B SFGYIRON B TE AHS U1 ¥
Ram is careless
c I TIRAE §

Ram is not clear about the concept of addition of in integers.

D 1 Uit & AT 3} SrguRuT F IR & WY T 2
Correct Ans : D

Subject : Mathematics

Q.No: 79 which is the first stage of curriculum development?

2475591
Uloea! ST BT J4H RO HH AR ?
Planning
A
e
Formulation of objective
B
Jexg &1 frEum
c Selection and organization of appropriate learning material

I Rigror G 1 9 SR W
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D Selection of suitable learning experiences
Juged e & SfHal o1 99
Correct Ans : B

Subject : Mathematics

Q.No: 80 Evaluation is closely related with

2475616

eGich Bl e Tdy g
A Content

Evaluation strategies
B E{R]ﬁﬂ .
c Objectives
D Process of learning

Correct Ans : D

Subject : Mathematics

Q.No: 81 Following is a problem from text book of class V “There are 4 poles of measure 105 cm, 215 cm, 150 cm and 235 cm respectively. If they have to
2476019 be cut into pieces of equal length, what is the maximum length of each piece?” This question is asked to

BTV P ST TP A T g Refihd @ “sad 4 @@ € et A9 waw: 105 W, 215 I, 150 S 3R 235 I 21 9l 37 GHE 9T $ cwsl A Brer
SIY, @ U ¢HS Bl ifipan dars e Sfle ug waret T S @

give practice of word problems based on HCF and LCM

A T SR TeRiEH TR S eq SHerS] &7 SR 31
test knowledge of factors and multiples
° PR IR T % T 1 g 3 ¥ R
check the skill of finding HCF
- el At el ) oid w2t g
D enhance problem solving skills using learnt concepts
it 1 YRS BT IUGNT PRSP AT YA & BRI bl TG P g

Correct Ans : D

Subject : Mathematics

Q.No: 82 Which two signs and numbers should be interchanged in the following equation to make it correct?

2479441
9+8x6+12-1=24
Frafeiad gtz o1 qel B & g fo <) gl a1 Semeli @1 enod & sger S =1igy?
9+8x6+12-1=24
+ and x, 1 and 12

A
+ 3R x, 18R 12
+and-, 8and 1

B
+ 3R -8R 1
+ and %, 8 and 12

C
+ IR x, 8 AR 12
+and-,9and 1

D

+3R-,93R1
Correct Ans : C

Subject : Mathematics
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Q.No: 83 Operant conditioning is different from respondent conditioning in which of the following points
2481354

Fafiea & 3 by g W Juce ST uiiak) Seiw & e g2

In OC reinforcement is given after the response is made

A OC & UG &1 F 915 YeeiPr faar S 3

In operant conditioning, behaviour is controlled by central nervous system

B e S #, sraer ey dfer & gri Fdfa dar g

A chain of responses is needed for, shaping the behaviour (learning)

c SRR (WER) F R 3 & Ry vfofmarel 9t we e 3t smaxaear gidt §

D All of the given option
fawea

Ruguwit
Correct Ans : D

Subject : Mathematics

Q.No: 84 Understanding the principles of development of a child helps a teacher in

2asiret @ T2 & AN $ gl 3 9uer 3 e $) #eg o §
identifying the social status of the learner
g Rugmf 8t o R ) e e
identifying the economic background of the learner
° R 7t onfies gy 7w vt &
. rationalizing why the learner ought to be taught

i S (3 e 1 = g S =nifew

effectively catering to the different learning styles of learners

b e o e dies 2t AR B g <1 Y B A
Correct Ans : D

Subject : Mathematics

Q.No: 85 To make classroom teaching more effective every teacher should

2482496
el feor Y o Tt 9 & o vl e @Y a1ty
discuss with colleagues
A Tl 5 el
analyze responses of students
y ST ol o1 i o
keep him/herself abreast of development in the area in his/her subject
¢ o faw 3 4 B R 9 g Y ora &
D publish his/her writings

Correct Ans : B
Subject : Mathematics

Q.No: 86 Merits of project method are :

2482689
Rt a3 1o &
This is based on various psychological laws and principles.
A Tg faft wrae et ok Rigidl I smefa 31
It develops self-confidence and self-discipline among the students
° g B T SN R S-S e Riq Fvar &
It provides ample scope for training.
¢ g WIRiEfoT 3 g et T e et g1
D All of the given option
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Rw M ;i fewe

Correct Ans : D

Subject : Mathematics

Q.No: 87
2482691

Demerits of project method are

oivEreH fafr & g

It takes more time.

TR 3 o e B

The knowledge is not acquired in a sequential and systematic manner

TH Pt 3R aiRd ol & sifvla 78 fbar s 81

It is very difficult to complete the whole syllabus by the use of this method.

U UG & SUERT A T UISUHH B! TR FRAT 9gd Hiod gl

All of the given option

feu e it oo

Correct Ans : D

Subject : Mathematics

Q.No: 88 when the lesson is divided into small units , then the comprehensive questions should be asked

2482774

D

S U6 oY BT 513l B favfrd fvar ofrar 3, 99 31U Uy g oA anfey
At the start of each unit

TAE THIS BT I A

At the end of each unit

TP IO & ofd

At the end of all the units

it gorgdl & ofa |

At any stage
Pl M TR

Correct Ans : D

Subject : Mathematics

Q.No: 89
2482832

D

Motivation is the process of initiating and correcting activities of the organism
IRon ST @1 Al B RE B AR TG A B ufar ¥
Supplying

Sustaining

Surveying
yfy & 91
Suspending
[REIEG]

Correct Ans : B

Subject : Mathematics

Q.No: 90

2483872 16 Y¥Y T fA H 10 4¢ SR S T 27 & & 31 g 3% 9avd &) b sierht v A1 8 6e ®rd oy 30 foAl 7 St and 61 g e

A

D

16 men can complete a work in 27 days working 10 hours a day. How many men will complete the same work in 30 days working 8 hours a day?

18 men
18 739
20 men
20 9
22 men
22 QoY
25 men

25 7Y

Correct Ans : A
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Subject : Mathematics

Q.No: 91 Meeting the needs of the present without compromising the ability of future generation to meet their own needs is called:
2469353

yfger @t difed 3 oot SRRl B IR B B ST § GHT fHT AT a0 3 SRl & R HIAT HEard g

Biodiversity
A

g fafdrear

Ecological succession
B

TR 3rgma

Sustainable development
(o}

Had o

Target distribution
D

a R

Correct Ans : C

Subject : Environmental Study

Q.No: 92 Jawar and Bajra grow in the area that have

2469748
SR Td §oRT (e # g v &-
High moisture
A
I
Little moisture
B
HA T
No moisture
c
T R
Average moisture
D

S T+

Correct Ans : B

Subject : Environmental Study

Q.No: 93 Environment includes is:

2470025
wafaRor & i -
Atmosphere

A
qrameRe 7
Lithosphere

B
weHsd |

C Hydrosphere
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Srersa

Atmosphere, Lithosphere and Hydrosphere

ARV, RS AR SaHed
Correct Ans : D

Subject : Environmental Study

Q.No: 94 In the rocket and Jet engines H>O: is a source of?
2470205

ke TG ST Sofel & H,0, &l ST &

Oz
A
02
Antioxidant
B
eifRse
Fuel
c
EUE]
Stabilizer
D
WIARR

Correct Ans : A

Subject : Environmental Study

Q.No: 95 Which of the following is not included in affective aspect?
2470238

e B @ P yiarHe v § it e 8-

Receiving

AU HIAT

Organization

e

Valuing

qed

Analysis

[ERGLWE

Correct Ans : D

Subject : Environmental Study

Q.No: 96 The most effective strategy for engaging learners in EVsis _____.

2470366
gfaRur 3feags | Rienfidl w1 e w7 & o 9e99 yurd oFfa g1
Narrative

A
HY
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B Reading the textbook

ISAGRAD UG-

Explanation by the teacher
C

Rigie gRT e

Demonstration in the classroom
D

we T weRi

Correct Ans : A

Subject : Environmental Study

Q.No: 97 Ritu while teaching students of class-V, emphasised on the problem created by pollution. Which of the following teaching methods will be most
2470413 appropriate to achieve the objective?

g 7 uiadt wen & faenffal Bl ug TH veuur I I THE W 9@ 301 | ST W R4 & fae i & 9 o 9 Rigor ol ved Suged grie

Lecture and talk by an expert

A
et forror R SR SR araf
Conduct field trip
B
Pies U emaifo@ s
Arrange an audio-visual documentary for class and after watching documentary tell students to discuss among them
C
T F Y TP TX-407 TR P HGRIT B 3R TARA @ & 916 Bl BI S o 741 HI & 17 By
Make a poster presentation about pollution in class
D

T & UG F IR B TP G TRIAaRvl B

Correct Ans : C

Subject : Environmental Study

Q.No: 98 Select from the following a list of animals which live in our houses.

2470606
FraRiRee & A 37 e 91 G 9 o gER R 7 %ed B
Spider, rat, cockroach, lizard
A
Spider, lizard, cockroach, pigeon
B
THel, foudd, foerag, FER
Cockroach, ant, rat, bat
C
Rat, spider, lizard, squirrel
D

g1, APpe!, U, fieed
Correct Ans : A

Subject : Environmental Study

Q.No: 99
2470697
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Yarrows was designed in 1913 by who is renowned for having designed the North & South Blocks of Delhi's
Secretariat buildings.

IR B 1913 | R foomz fovar man o, < el & afvarem yaat F S R g saie! ol f3ezd a3 & faw ulig 71
Sir Herbert Baker
A
W g TR
Sir Arthur Cotton
B
W IR i
Sir Thomas Roe
C
W AEE A
Sir William Hawkins
D

W faferaw g

Correct Ans : A

Subject : Environmental Study

Q-No: 100 Air pollutants like smoke and sulphur oxides started to build-up in the atmosphere, due to which, the white fog accumulated over the city turned
2472153 black, forming which type of fog with almost zero visibility in 1952

I UEND O YT 3R TR SHTHISS IraRol # §99 T, forad BRI, JER & FIR ST gl ihg BHIgsT Hiem &) T, s 1952 & AT X1 exaar are
PIgRT & 7T

pea-soup smog

A
4t gu
brown smog
B
W
foggy smog
c
yfiret T
reddish -brown smog
D

-4 AT
Correct Ans : A

Subject : Environmental Study

Q.No: 101 Which one is not a method for water conservation

2472248
I TREOT B B A fafy T
bamboo dripping irrigation system
A
i U are e womedt
Groundwater extraction
B
eI FpEr
kunds
C
L
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Avoiding water wastage

It 3T Saidl J

Correct Ans : B

Subject : Environmental Study

Q.No: 102 Which is the first National Park established in India?

2472446

HRA H i ggen I IH S 9 82

Velvadna National Park

Jefae AP FE

Periyar National Park

AR g ST

Bandipur National Park

iR P FIH

Corbett National Park

Fide AP ST

Correct Ans : D

Subject : Environmental Study

Q.No: 103 When one wants to take a representative sample for the study of households in India, which of the following will be the least cost effective

2472583

sampling method?

HRA § URERT & era & T e Ui T o =16l ©, @ (9 H 3 9o S ani it A 5 o @ e

Level objective sampling

W e T

Simple objective sampling

RO AEgeRd T

Objective sampling

ERRSRUECG)

Multilevel herd sampling

TEERIY oS T

Correct Ans : D

Subject : Environmental Study

Q.No: 104 Sundari trees provide durable hard timber which are found in

2473163

B
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T SR Seel

Krishna delta

T SeeT
The Mahanadi delta

HEHE Sl

Correct Ans : B

Subject : Environmental Study

Q.No: 105 DRDO stands for?

2473962

31.3R. €13, (DRDO) %1 guf &Y 7 §?

Defence Research and Development Organisation
A

5 o G Saaudie S goRM

Defensive Remote and Defence Output
B

SR Rl Ts 3% smeeye

Defence Research and Dive Organisations
o

St o (S Siq SRfAEeRH

Defence Research and Development Outsourcing
D

St o T Saaudc sieeaRit
Correct Ans : A

Subject : Environmental Study

Q.No: 106 What is the total cost of the Gaganyaan programme?

2474000
T BEHH Bl $d AN bl 87
9023 crore
A
9023 RIS
100 crore
B
100 &S
6000 crore
C
6000 TR
8023 crore
D
8023 TS

Correct Ans : A

Subject : Environmental Study

Q.No: 107 India successfully test-fired supersonic cruise missile off the Odisha coast recently.
2474042

HRd 7 B9 g1 7 NS de ¥ gRAFS Bl Hussd BT YHa Y& T
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Brahmos

A

EEI

Prithvi III
B

T4t 11T

Dhanush
c

i

Prithvi II
D

Tt 11

Correct Ans : A

Subject : Environmental Study

Q.No: 108 Wwith respect to India’s Nuclear Programme, which of the following resources are available in abundance in India?
2474187

UYRT F IR HRHH F ey §, Aol & § S a1 gureH yRd § W 76§ Suas 87

Uranium
A

puEeL

Thorium
B

ifeaw

Both Uranium and Thorium
C

Qe &R it 3N

Neither Uranium nor Thorium
D

T & g ok 7 & i

Correct Ans : B

Subject : Environmental Study

Q.No: 109 Under which of the following initiatives the development and deployment of low cost satellites was addressed by the United Nations Office for
2474204 Quter Space Affairs?

a1 sfafver AT & g 9ga Y P gR1 e A § 759 15d F ded S0 AFd a1 SUUE! & [ R dRl Sl S€ia e m or

Basic Space Technology Initiative

A

giardt siafear sirenfie wea

Russian Space Initiative
B

w4t sfafer uga

General Universe Initiative
Cc

M SIS Ted

Milkyway galaxy initiative
D

ST SHTRAFT U

Correct Ans : A
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Subject : Environmental Study

Q.No: 110 Which of the following is India’s first major hydro electric power station?

2475931
fofufad ¥ ¥ P9 URd 3T Ug W Wa [Aegd Sded $% (3RS 3AReD TR RIH) 372
Shivanasamudra Hydroelectric Power plant
A
RIS FREIRARS W @i
Bansagar Hydroelectric Power plant
B
VTR gESisdiae® R @ie
Loktak Hydro Electric Power plant
C
WHaP TE! SAEEP IR Wi
Hirakud Hydro Electric Power plant
D

FS TRY! AT TR Wie
Correct Ans : A

Subject : Environmental Study

Q.No: 111 In which state is Chhau dance the major dance form other than West Bengal and Odisha?

2476453
O S SR ISR & Sraar o fre v A B T WM T 82
Uttar Pradesh
A
IR U
Bihar
B
Bihar
Andhra Pradesh
c
SIS W=
Assam
D
S H

Correct Ans : B

Subject : Environmental Study

Q.No: 112 which cricketer has scored the most number of centuries in a single world cup tournament?

2476542
& fay u gAfife o fry fhdex 7 a9 3ifie Ias s &2
Sachin Tendulkar
A
it dgaax
Rohit Sharma
B
Afga =zl
C Kumar Sangakara
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PR YTPR

David Warner

Sfas TR

Correct Ans : B

Subject : Environmental Study

Q.No: 113 Who out of the following is NOT a boxer?

2476575
g YR gapare ¥ AIBA g1 3y AftmaR & wol uew Sitdr?
Sachin Singh
A
qfeq Rig
Thokchom Nanao Singh
B
A el Rig
Vikash Kishan
c
faepr fparm
Saurav Ghoshal
D

TRa G

Correct Ans : D

Subject : Environmental Study

Q.No: 114 Who did Muhammad Ali beat in the "Rumble in the Jungle"?
2476579

" 7 ST H Howa ol 7 b g ure

Ken Norton
A

F A

George Foreman
B

EEREC]

Joe Frazier
o

it SforR

Larry Holmes
D

& g

Correct Ans : B

Subject : Environmental Study

Q.No: 115 Which one of the following is not a protected area?
2477799

FrafifEd & & B U Wiad & 7 82
Wildlife Sanctuary

A
TSI ARG

B Zoological Park
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Saitoed Uih

National Park

BRG]

Biosphere Reserve

TR o

Correct Ans : B

Subject : Environmental Study

Q.No: 116 Which of the following is a cause of Episodic Acidification?

2477873
Fraffea # & @17 teifse smffwwr o1 srRu 32
High altitude
A
S SER
Low temperature
B
DH YA
Melting Snow
Cc
fUue archt 9%
Low levels of Nitrogen Oxide
D

AT Siigss & FE 'R

Correct Ans : C

Subject : Environmental Study

Q.No: 117 Charts can be -
2478633
1.Pictorial
2.Tabular
3.Flow

Choose the correct code -

T B 9B © -
1. (Reiiem)
2 IRIPT FT (THER)
3918 ()

TS IS T -

Only 1 and 2

Fad 1 iR 2
Only 2 and 3

Faa 2 AR 3

Only 1 and 3

Faq 1 3R 3

4 2 enan
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D 1, 2 anu >

1,238R3

Correct Ans : D

Subject : Environmental Study

Q.No: 118 Edgar Dale arranged the learning experiences on a continuum of ‘directness to indirectness’ which has correlation with continuum of

2478728 concreteness to abstract’. He called it a

TSR 39 I g & syl &1 e & e e 3t FRavar R wafia faan, SRt '$wieid ¢ s ot YA & 91y d6y §1 39 39 gan

Cone of Experiences

A

3Pl BT W

Circle of Experiences
B

STHAT BT T

Sphere of Experiences
C

3fIHA BT 8

Square of Experiences
D

Syar BT it

Correct Ans : A

Subject : Environmental Study

Q.No: 119 refers to bringing meaning to the collected data through interpretation, analysis and reflection.
2478732

_ o1 3 e, faxaer iR wfafse & Arem @ ueiAa Ser H off @ gl

Evaluation
A

Tedich

Assessment
B

S{The

Measurement
Cc

HY

Tests
D

e

Correct Ans : A

Subject : Environmental Study

Q.No: 120 The assessment wherein the purpose is comparing student’s acquired performance with the desired performance is known as which of the

2478742 following?

g e Toral I & & ifvid TSR 3 9ifed WexH & Iy ga &= 9l &, Fafifea & 3 o8 w1 o 32

Informal Assessment

SR e

Nhiartiva Aceacemant
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VEJTLLIVE ADDTIIINITIIL

B
QYRS SHa
Subjective Assessment
(o
fvaRe e
Criterion-referenced
D

-
Correct Ans : C

Subject : Environmental Study

Q.No: 121 Meaning of growth is -

2473548

g draRf 3 -

Growth of external and internal organs
A

3idRe Td TRl 3l B i

Growth of external organs only
B

ae a1 T B g

Growth internal organs only
C

Haa iaR® T 31 g

Physical and mental growth
D

IRIRE T AR 9f
Correct Ans : A
Subject : Child Developement

Q.No: 122 Law of inheritance in which children exhibit opposite traits from their parents-

2473720
A 1 g e, Rl a1 s A - e & Roda o7 velkia wva § -
Law of regression
A
AN P
Law of resemblance
B
FHG P HaA
Law of variation
c
faftreren &1 fe
Law of transmission of acquired traits
D

Sifsfer ol & HepHuT & Fam
Correct Ans : A

Subject : Child Developement

Q.No: 123 The main objective of education according to Acharya Vinoba Bhave is to
2474577
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3T fiaT W13 ¥ AR RieT &1 Jer 339 §

Make a students self-dependent within the shortest possible time.

A
FH Y FH Y T DA BT AR FT
Make students able to benefit from the daily life experiences
B
BT 1 &% Wiiad & srgual & @ SaH H We FHA
Make a clear discrimination between learning and doing
c
ST 3IR enarg ¥ o9 YUE SR &1 uar 81
None of the given options
D

fau g et A @ B 7

Correct Ans : B

Subject : Child Developement

Q.No: 124 On average, school children need about calories per day.

2474647
Tl o= B e AT ST SR BT SraRadd Bl §
1200
A
1200
1800
B
1800
2400
c
2400
3000
D
3000

Correct Ans : C

Subject : Child Developement

Q.No: 125 What have been the most successful and popular technique for integrating exceptional children into general classroom?
2475359

T Fell T SRR S &) THIPd $3 & oL, Ta THa iR B a1 8

Cooperative learning

A
Tednf Rieror
peer directed learning
B
gl g &R e
Self-directed learning
C
- R fuar
teacher directed learning
D

Rigrer e Rrer e

Correct Ans : A
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Subject : Child Developement

Q.No: 126 For children with level of mental retardation would support of functional academics be most appropriate?
2475446

50 TR & gARTS fawaid ad o= & e safds faen 31 S 9ad Sugad gim?

Mild
A

[5d

Moderate
B

HEOH

Severe/profound
Cc

TR/ Te

all of the given options
D

R mit e

Correct Ans : B

Subject : Child Developement

Q.No: 127 Humanistic education focuses on

2476230
Araarar} e fra o B 3
arts and social sciences
A
Bl SR Ao o
only science
B
Had foem
only arts
C
o el
social and political science
D

T SR IS g

Correct Ans : A

Subject : Child Developement

Q.No: 128 Beyond rote learning, a teacher should make the class more____
2476926

1. Realistic

2. Meaningful

Choose the correct code

o) U ¥ W, TP e I Han 3l iR i T 91T -
1. gyrefaret

2. Tf&

& FIS T -

A 1 only
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Fad 1

2 only
B
Fad 2
Both 1 and 2
c
g1 eiR 2
Neither 1 nor 2
D

qdar1 siRAgE 2

Correct Ans : C

Subject : Child Developement

Q.No: 129 According to , human beings are motivated to act in order to fulfil their various physiological needs, emotional needs and cognitive
2476948 ge(s.

F IR, AT Ut At NS saxadalsd, GaeATas avamdish iR TIHHES HaRadhdisl &1 G F=- & fn &1 S & fo ifd g g1

Need theory

A
Srargepar figia (fie @Rl
Attachment theory
B
rgeas Rigia (we @)
Theory of Psychosocial Development
c
T AT 1 Rigid (@R St TReIeIN Saaude)
Social Learning Theory
D

gt Rigon Rigia (Jiva i @)
Correct Ans : A

Subject : Child Developement

Q.No: 130 A one-year-old child cannot be made to write because

2476989

T I T ST Fore et Tpall T

He is not matured enough
A

75 v uRuw TE 8

He is not motivated enough
B

a5 vata I T 8

He is not aspired enough
c

9% v 555 4 &

He is not desirous enough
D

98 v g e T §

Correct Ans : A

Subject : Child Developement
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Q.No:131 ___ can be best understood as the degree and location of what we believe the causes that determine the events in our life.
2477076

PI gAR siiad & geeft &1 Fufita T3 aret SR R (Y 31 31 33l ok ®H & wu § gad s T  JAg of IJobdl ¢l

Level of aspiration

A
STDHIET BT TR
Locus of control
B
rtaror <1 farmgay
Level of attitude
Cc
T FT TR
Locus of motivation
D

SR FT fargay
Correct Ans : B

Subject : Child Developement

Q-No: 132 which of the following is NOT an act of juvenile delinquency?

2477679

Frafefed & 9 o1 fB2R SRy &1 o1 76t 82

S/he tresspasses on someone else’s private property.
A

g Tt 3R &} Folt oy W aifossmor Far/avedt §

S/he skips school.
B

T8 T § I Sa/S 81

S/he goes to movie-theatres with her/his friends.
C

TE S Sl 3 A RAwTeR S/sn 3

S/he vandalises school-property
D

9 a-9uRy § dewls Hear/awdl @
Correct Ans : C

Subject : Child Developement

Q.No: 133 Inclusion has the potential to and among the fellow individuals.
2478101
FHGTH # Wl Al & € IR @I &l 1
Reduce fear, increase compassion
A
N HUHA , Tt fawR
Reduce fear, reduce compassion
B
RFATA, T Ha FA
Increase fear, increase compassion
Cc
R agH , T fawla
D Increase fear, reduce compassion
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R TeH, T FA A

Correct Ans : A

Subject : Child Developement

Q-No: 134 Children above

2478153

age, as per RTE Act, 2009.

RS sfdfram, 2009 & SR

5

9

Correct Ans : B

Subject : Child Developement

Q.No: 135 A child with a cognitive disability may have difficulties in -

2478222

i)Understanding of spoken language

ii)Understanding of written language

iii)Expression of spoken language
iv)Expression of written language

Choose the correct code

T AYAIAD 3LeRial ard s H
i) drelt S areft yr @t wHE

i) fofaa v ot @A

iii) STell ST aTel HTST &1 Sif¥aaiad
iv) fafaa & sivaafe

el BIS o

i) and ii) only

i) 3R i) Faa

i) and iii) only

i) 3R iii) aa

ii) and iv) only

i) 3R iv) Fad

i), i), iii) and iv)

i), i), iii) SR iv)

Correct Ans : D

Subject : Child Developement

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

_ ¥ gAw § gt gl

years of age who have not completed elementary education, shall be admitted in a class appropriate to his or her

i § 1w oy & a3, e RS Rien ot 7t ot |, 37 $ ISt 3 F S Fan & yawr faar smem|
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Q.No: 136 The teacher finds that a child is having problems even in naming 5 fruits, vegetables or plants. Which of the following is/are the correct step/s
2478293 pe may take?

i)The child should be properly assessed by a qualified psychologist
ii)The child should be properly assessed by a teacher who is specially trained to take care of mentally challenged children

Choose the correct code

e a8 3@d € & 5 wal, gisrd! ar dielf & 9 waq # off v 9= o 9o 31 3@ 81 98 fifad § ¥ S 973 98 $eH 31 Il 8/8?
i) A TAATCIN® §R1 s &1 3fd geaieH fan o e
i) IFR® U ¥ [q@aiT g 31 QU HA & oY ARy ©u 9§ uiRiféd R gR1 s o1 3fad geaied ar S diiey

e T I -

i) only
A

i) Had

ii) only
B

i) Haa

both i) and ii)
C

i) R i)

Neither i) nor ii)
D

Fari) T i)
Correct Ans : C

Subject : Child Developement

Q.No: 137 Which of the following statement defines the correct meaning of Heredity during the development of a child?
2478858

fgfad # 9 S W 3 9= & b T oalidar & 9et orf &1 uRuIitd FXar g2

A child resembles his sisters, brothers, parents, grandparents etc.

A
T ST AT e, HTal, Hrer-fel, qrar-ard s S fr 21
A child behaviour is very similar to his or her peer group.
B
U e ] oJagR U FIGT & GG b JAM & gen g
A child attitude towards a particular type of problem.
C
<t fad veR &1 g & iy S S eI
A child responding better to a particular type of technology.
D

TP fIRiw TR @t de-ie & R Sg viafsar & aren s=m

Correct Ans : A

Subject : Child Developement

Q-No: 138 According to Kohlberg'’s level, conformity to social rules remains important to the individual at
2479257

Hiae! F Yokl B ATAR, GEID Pl o1 srueH sl % Rig weayf war 8

A Preconventional level
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TH-TRURE &R

Conventional level

B
URURS TR
Ordinary level
c
HYRW &R
Principled level
D

it TR
Correct Ans : B

Subject : Child Developement

Q-No: 139 Which of the following statements given by Rabindra Nath Tagore is not correct regarding progressive education?
2479533

i =y R gRT e mar Faffed & @ 99 w1 ey wnfaiia wien & ey § W€l T8 82

Lack of education as a major hurdle that thwarted India's progress.

A
TRl T ST TH TSI 911 & U T o/ URd & Wifa & ifera fovan
He defended the nationwide education system.
B
I gt e yomeht 1 wrarE
Nationwide education makes space for development of uniqueness, freedom and knowledge in natural settings.
C
It Afera & fAfkrgdr, WA iR 9 & e F R Tgemd Rien A @S |
He defended the contemporary education system.
D

I2I qHeTel Riem vl %1 S99

Correct Ans : D

Subject : Child Developement

Q.No: 140 Thurston subdivided which of the following abilities into two parts?

2479708
¥ 7 Ffered & 3 5w ama o1 <l uml 7 fafea e g2
Verbal meaning ability

A
qiftie- ey drege (qeie T gl
Memory ability

B
et g (A o)
Numeric ability

C
dife Al (GARS TR
Reasoning ability

D

& drgar (ST TR
Correct Ans : D

Subject : Child Developement

Q.No: 141 Who among the following developed the Primary Mental Ability Test to measure all the factors which constitute Ability?
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2479840

Fefafad & ¥ 599 draar & SRS 3 oid $ o wrufie amkie ararst (@, . 1) 31 e Wi ek fear

L.L. Thurstone

A
Ta.T9. R
Charles Spearman
B
e WA
J.P Guilford
c
EARTGLIC)
Robert Sternberg
D

RECREE T
Correct Ans : A

Subject : Child Developement

Q.No: 142 is an individual's preference for engaging in one or more specific activities relative to others.
2479849

B o foprait aafad gRT gudt foramalt 3 ertien fdft U syt @ ¥ siftes oy foranali & Wad &1 oiffe oo Y@ @t FFar 9 21

Values
A
T
Interest
B
B
Intelligence
o
=
Personality
D

Al

Correct Ans : B

Subject : Child Developement

Q.No: 143 are innate tendencies found in all members of a species that direct behavior in predictable ways.
2479951

TP Yol & Ot e H Ui 9 ardt s ugdgfoat § S oragR &) yaliig adier 3 RER wxd 8

Need
A
SEaGhdl
Instinct
B
iRl
Want
C
qed
Affiliation
D
-
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Correct Ans : B

Subject : Child Developement

Q.No: 144 Which of the following is not the correct role of teacher in emotional development?

2480086

Tamere faer § R 3 Fofifea 3§ 9 o7 & yfe ad 781 &

Teacher should take care of nutrition of a child.
A

e/ P 9= S W0 BT A G =R

Teachers should not disclose private issue about a child to their parents.
B

gl Pt 52 & AT-oen ¥ T P Aol el 1 g 781 1 Aol

Teacher should try to make the activities organised by the school creative, lively and beneficial.
Cc

e 1 foemer gRT ST RIS B WA, oid SR AR S 1 TN ST et

Teachers have to live up to learners' expectations and set an example by their own behaviour.
D

Rrere! o RienRidi B eensii W BRI <A1 G 3R U4 AR T U SEIeR0 RIMUd ST Nl

Correct Ans : B

Subject : Child Developement

Q.No: 145 Among the given list of S-R theories, identify the one which gives more importance to the reinforcement.

2480291
S-R Rigidl Bt & 7% G F ¥ 39 Rigia @) vedr SR o yeer B 3iie e dl 8
Pavlov's conditioning theory
A
a1 ST Risia
Skinner's theory
B
e R ®1 Rigia
Watson's learning theory
c
ACHA 1 ST Rigid
Guthrie's learning theory
D

TR 1 31t Ry

Correct Ans : B

Subject : Child Developement

Q.No: 146 What should not be the quality of a pre-instruction test taken to test the readiness level of the students for a particular topic?
2480333

A. It previews the upcoming topic.

B. It must help the teacher to make instructional decisions regarding the strengths and weaknesses of the students.

C. It must test the students' knowledge of the last topic.

D. It must determine prior knowledge of the students on the topic.

et fadiy fawa & g BT & AUl & TR 31 e B3 & o of 78 gd-PE udien 3 o @ T8 e ate?
A. 98 3T vy @1 yafadie &ar 81

B. I8 Riere 1 BT Bt arvd oIk SrsIRal & Yey & s fofa 33 & geg o @iin)

C. 39 sifaH 9w & Bl & I ST W& ST =118y
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D. 34 fawa W BE & gd I &1 FulRo &= 3

A and B only
A
Fad A R B
A, B,C, D
B
A, B, C, D
B and C only
C
FaaB 3R C
A B, C
D
A B, C

Correct Ans : C

Subject : Child Developement

Q.No: 147 wWhich of the following statements is incorrect with respect to the theory of Karl Rogers?

2480338
I Jord & Rigid & Feoiy & Faidfed 3 § S19-a1 $y e 82
Experiential learning addresses the needs and wants of the learners
A
SFHaTE ST Riefidt @t SReal SR gl @) Yaid BT §
People learn from one another through observation, imitation and modelling
B
TN TP R Y TG, SITHRUT AR WSRIT F Wer | Wrad §
Learning is facilitated when students participate in it and have control over its nature and direction
Cc
Tran Bt Gy 99 T ¥ I OF T U A0 § R 3uP Uephy ofR R wR A v ¥
Learning is of two types cognitive and experiential
D

TG & THR BT 81l &, YHIoTP IR STHATHD
Correct Ans : B

Subject : Child Developement

Q.No: 148 The understanding that another viewpoint for a particular thing or situation can also exist, develops at which stage?
2480734

foredt iy <t a1 Rufa & e ue oy efaion o Hiee € govar § 5 wmer i o1 R el gkt 82
Early childhood

A
RIS AEH
Middle childhood
B
e RGP
Infancy
Cc
AT
Adulthood
D
qThdl

Correct Ans : B
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Subject : Child Developement

Q.No: 149 Which of the following does not affect the social development of a child?

2480843
Frafefed &  S5- @ aaw & amiie e S yafdd T8 o 82
intelligence
A
EEd
Language use capability
B
HTNT TRART Y &l
reasoning
o
GERIGHS
None of the given options
D

fau e e & & o 1Y

Correct Ans : D

Subject : Child Developement

Q.No: 150 Mother is known as first teacher of ?
2480881

TR ____ & Ugd e & w9 F o o @

Child
A

T

Father
B

fo

Relatives
C

R=dert

Friends
D

&

Correct Ans : A

Subject : Child Developement
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